Computer Structure

Assignment 1

Print this page and provide your answer on the printed form.

1.







  
שאלה ממבחן

נתון המעגל הבא:

[image: image1]
מלא את טבלת  האמת  של  המעגל.  
לפחות  לשתי כניסות בטבלה הסבר  ונמק מדוע מלאת את הערכים.
_________________________________________________

_________________________________________________

2. Create NAND(V1, V2, V3) circuit using CMOS transistors.

The circuit has 3 inputs and one output. Pay attention that the output must not be connected to 5v and 0v at the same time.
Answer:

3. Create OR(V1, V2, V3) circuit using CMOS transistors.

Hint: You need 8 transistors for that.

Answer:

4. Make the following bases changes :


1. ( 3E6 )16        = ( _________________ )10 = (__________________ )2 

2. ( 110110110.1101 )2 

            = (__________________ )10


3. ( 72 )10 = ( 110 )R , 
R=____


4. ( 1776 )10      = (__________________ )2 = (__________________ )8


5. ( 11.111 )10 = (__________________ )2 

6. ( 0.15 )10         = (__________________ )3

5. Solve :


1. 3CA.B + AFF.F = (____________ )16 

2. 1F0.A - FF.F     = (____________ )16


3. 1101 - 1010       = (____________ )2

 4. 1110 + 0011      = (____________ )2


5. 1100 * 1101       = (____________ )2 

6. 1110011 / 11      = (____________ )2

6. Calculate in 2's complement, 8 bit signed. Report on overflow:


1. 00110101 – 01101000 = __________________________________________


2. 10011111 – 11001000 = __________________________________________


3. 10100010 + 10100011 = __________________________________________


4. 10110111 - 01111001 = __________________________________________
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